Volume Review
Name:  					Div.:  				Date:  				
Volume = Area of the base x height (l x w x h)   Pick a face (triangle, circle, etc.); find the area and multiply by the height of the prism.
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7. Ifcylinder 4 has a diameter of 6 cm, with a height of 4 cm, and cylinder B has a diameter of 4 cm with a height
of 6 cm:

a) Which cylinder has the greatest volume? b) What new height of cylinder B would make its
By what amount? volume is the same as cylinder A?
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10.

The length of a rectangular solid is four times the
width and the height is three times the width. If the
volume is 768 cm?, what are the dimensions of the
solid?

1. Arock is sunk in a rectangular fish tank that is 50 cm
by 30 cm. If the rock raises the water level 3 cm,
what is the volume of the rock?
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8. Cylinder 4 is twice as wide as cylinder B, but only 9. A solid metal cylinder with radius 6 cm and h:.ighl
half the height. What is the relation of their 18 cm is melted down to form a solid'cube. Find the

volumes? length of the sides of the cube to two decimal places.

10 Find the volume of a chocolate cake with a diameter  11. A cylinder and rectangular prism have the same
0£20 cm and a height of 6 cm, if the cake is missing volume. The rectangular prism has a length of
aslice whose centre angle measures 60°. 477, and a height the same as the cylinder. If the

cylinder has a radius of 6 cm, what is the width of
the prism?
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. Find the volume of each figure.
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A piece of wood with dimensions 30 cm, 20 cm,
and 5 cm weighs 4.20 kg. A second piece of wood
from the same tree has dimensions 15 cm, 15 cm,
and 12 cm. What does the second piece weigh?

Q. The basement of a 30 m by 18 m house has cement
poured to a thickness of 5 cm. If cement costs.

$108 per cubic metre, how much will the cement
cost?




